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QUESTION 1

Click the Exhibit button.

A customer has deployed a new FAS8080EX running clustered Data ONTAP 8.3. Host A is running multipath software
that has been properly configured. Also, Host A is currently accessing a LUN using the FC protocol stored on Node A.

Switch A, shown in the exhibit, fails.

What will happen next?

Exhibit:

Switch B

A. Node A will panic causing a storage failover to Node B.

B. Host A will lose all access to its LUN.

C. Host A will continue to access its LUN using Switch B through Node B.
D. Host A will continue to access its LUN using Switch B through Node A.

Correct Answer: B

QUESTION 2

A company has a 4-node Data ONTAP cluster called cl01. The administrator attempts to create a volume on svm1 and
can only select aggregates that are owned by node cl01-01 or cl01-02.
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What is causing the problem?

A. The SVM peering relationship has not been configured with the cl01-03 and cl01-04 HA pair.

B. The storage virtual machine is not configured to use nodes cl01-03 or cl01-04.

C. No LIFs have been created on nodes cl01-03 or cl01-04.

D. Volume creation delegation is not configured to allow use of cl01-03 or cl01-04 owned aggregates.

Correct Answer: B

QUESTION 3

A customer has a host experiencing performance problems with its FC LUNs. The customer has examined the nodes
hosting the LUNs, and both the disk and CPU performance are below 50% utilization. The

customer examined the switch ports connected to the storage array, and they are also below 50% utilization.
Which three should the customer verify? (Choose three.)

A. that the HBA queue depth is set properly

B. that the host HBA has the correct port settings

C. that the host Ethernet interfaces are using jumbo frames

D. that the host is running SnapDrive

E. that the FC switch ports connected to the host have not exceeded the maximum capacity

Correct Answer: CD

QUESTION 4

In a 4-node cluster, how many LIFs are required on each node to allow a host to use ALUA and have multiple optimized
paths to each LUN?

Al
B.2
C.4
D.6

Correct Answer: B

QUESTION 5

After mapping the LUN on the cluster, you are not able to see in on the Windows 2012 host.
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cl01::>igroup show -instance Vserver Name: svm1 Igroup Name: igl-win Protocol: iscsi OS Type: Windows Portset
Binding Igroup: Igroup UUID: 358338ba-cfd611df-a9ab-123478563412 Initiators: ign.199105.com.microsoft: hostl (not
logged in)

Referring to the exhibit, what is the problem?

A. An administrator is not logged into the host.

B. The iSCSI target has not been added to the host.

C. The OS type should be windows_2008.

D. The OS type should be windows_gpt.

Correct Answer: B
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